


2.

RTEN
87

© x2+x-4
@ —

2x -3

+1

X
3

©2-4




@ 4x-6

+4

® 8-x

— | =

DO —x2+2

@ 0-x-7



@ 0.2x2 +x

D 6x+5
@_

+1



e % x o T DA AL

© x2-2-(2x-7) @ S+ (=5)
® —x% —4x—11+4x @ 0-x*-x+3+ux

T 4 2
® 170)5 x—=0.7x



(1]

H7]

@ 2x-1 ©1-x+=x ©® -x24+x-1
@ a*-a @ 5-4y

0.6 2206 0006 ®oo6e 060






Al x? = 6x+ 1 oA x* 9

3

x o tieh o

8.

,a, b, ¢ o Fge

Mg et @

Z

4]

L
__OO

=

@a=1b=-6,c=2

Da=1b=-6,c=1

@ a=1hb=1,c=2

@a=1b=1,c=1

®a=1b=1,c=3



+4



D (x+1)-(2+x) @ 0xx+5
® 3x—x+7-2x @l_1
x oy

® x% - (¥ +0.1x)






12. thg 2] FoA AxaL B A

@ 17 @ 274 @ 374 @ 4 7Y ® 574



H7]
O x+3 © 5x+3-5x © 2x+7
@%4-3 @ x®>+3x—x
® 9,0 ONQNG) ® 9,06,
ONONG) ® ©,06,0







15.

(1]

H7]

Q@ 2x © xxx+1
1 1 1

@3x+§ @—;—Fi

@ 0-x+5=5 ® 4

3 1 1
@1(x—1)—x+1+1x @§x+8

© 006,06 © 0,606 ® 96,0
ONCRNNC) ® 9,06,0




16.

EXl
Q@ x° © 3x
© 0xx+2 ® 2x-7
@g—x—z ® 5x*+2x+1
® © ® 0,6
® © .6 ® 006,06

® 9,0,6,e,0,e




k-
o

o]

ofg

Zatat,

17. o

—

o 571 ¢

in=e)

mJ

XO

F

® #5717}




ol

?-
ol
ol
o
o

Bo
T

5741

el
-

]

0

7

—

0
J_,NO

o]

® Aot:

@ t}

oA =2

o

o] -

Nol A 2457t 74 2 el



19.

CFeHA] —3x2 + 6x — 2ax? - Tx + 1 2 bk
x of BRF GapAlelnt. o] uf g 9] e

2 3
®-: @-5 0-



20. _

5| LR & o, o] oo

T4 3x% —dx+b+ax® +x-5 2 e

A2
=
x o] 3t A}Al0] 9l T, AFAEhe o

AT} a+ b 9 ZHe9

D1 @ 2 ® 4 @ 5 o



21.

oF& TharAle] AAHAY o, ot 4]
13 + 7x — 9x% + 4a — 3ax® + 2ax

D L
=%



Aax? —3x+7-6x2+5x+ 1= 7Ha9]

3
AAAo] H5 5

22. o

°9

Mo 4% a o g

5l

@1

@ 3

ON]



